1 BEHSHEEDA ++ 7 X7 OBBREEERER

BwE E R
41 (SEEE) O F+veX7 OREERIZ, 3150 v, SHRESTFIHERAEZINA T
3, FORRE. B—1. - 1~5KREINZLHCHEEE X7 BLHEDE03 BT 2531 b,
LEI0B4TF M. KRE=X71316%7T, 502t v, €BH1IEITAIH, RBREXI7 B3 THT
116 b v, @BAT2HFHOKEEREEL > T3, BREAEDEAE. 1YL DLEEEL MR
AicRET &, R—1IREND LI 1{E (18kg) FHH4 HiR, 2 & (3Bkg) s 3 Hlk,
2 (5dke) Fighi 2 HUR, 44F (T2ke) FHMN 1HIBER > THEBO, TOMDIGHEIZ, 1HL
TFTEH-TNBE, 2FMIKE, ZEEBIFMO2fEICIE- THEHM, cn3MBENSIHILHK
O L EERBREESEL, THICESORARSEI LT LCL3bDTH-> T, 1HLEHOE
EERDGLA, ALV ERLTVE, (blaHic, ATiORIE=E X712 1,189 b, €B5[ES3
FHM, RREX71Z761 + >, &E3/5FHH, BEMEE50490 8O

20BRERIC20T, THREBAIN TS, EX/7BERBSTHR UL DK, RO 3 AH
FRERELTEALON S,

(1) BHU (9 A~108) OBRAREMSPUERIOI12A TOEICANEHE (UKF15mLlEE
WHRTWE) LD, FICEENTH 2 RNHBOEM € X7 BeBBIC S0 TRENNN
Wl Lo 208, KEDOTHE LD ICAERTEBTRR LD -7,

(2) BERIFHOLRA~2Aicrd T, KBRBFEHIBC~I9CKET LA LD, MMRSF
HROETEREOE, TOREOMOLD, FEDIKETRALSDLEADN S,

(3) #Hicwe, 2ALIE, 3A. 4ARDPUTENIEEREL M, 4BOERBICA - T, 0%
EROENBEWIC LY, BETRBTHFELPMULPLLOBRRIM I, LT, 440
FEAEET. BAD5 ALBRIKESR U, 5AICA-THSR. M5 LOFEHSHL, NI TH
VRPsBHLNICEX I BRBECEFTERHGEL, REETCEFODTLLOIDOBERTH
%o

Zo&HiC, BEHR, ~BHCRREFHLERENPTVEODONTN S, &t/ V&R, K

BRBNELBNELE ST, BELAENEEELITH D, 0. FIHK BT A2FEMASFC

oMk, RALE 2 ACh I COKBOET., BhEMICLZELELE X7 DEFRFIKE,

BT LSBEROETH -7 EREAR. Lichis T, SHOBERER., BB L - TE, 5

B (9A~12B) &l (28~68) pE5opBLARBPREREL. DHHLHLWBI2A~1A

ORBTENZT 0B LI RNEBBEEENOZING, (BF. ARRICE, ALX >822 —-T

BUORPLPERLREBLLNIDOTH S, ) LoLERS, BRTE, fTHEAS ETHE

BEDHENTHD., AENUEEEER 2 ALBRSESPER Y,

—_—1 -




2500

2000 5

1,500

1,000

500

O—0O  KRE=XJ DEE
I\ B E X7 DERE

47 48 49 50 51

B—1 KXREIVLEBEX/IOEENRR

52 53 54 55
(B




(#47°9) BETRHO  (~4189) BEESHE®  (£405L) BEWEE®  (£19970) BRESO (2 A1) BRZTELO
2VNCA L FYWY (8)

(~4€8) BHREXYVEO (#418) BEZTHEH® (£49L) BYEZ® (7~ 408) BHUBHE (#42vl) BRTEVO
2NCA G FEWY (2)

(£4812) BUBEZO (4 €00) BUWEO (<1730 BERAO  (£4078) BUSHO  (<428) BHITHO
2VCA sy xHE (1)

T M8 Zh % %

) +(E+¥

00T X v

“
%BLe) | (%091 (%¢£09
1122009 699 02ST | 9L92€T1 | 286%95782T | 9L80G1°E | 2€2T6€2Y | €L89TT | 2ZSTEVOE6T | 2¥SC0S | 86GSETBYOT |19¥'TEST

- v leg o+ra+w |orarw | Pe s |MeEn Py s |Meen|Py s |Temy
omE) |gwEm R 2| eans
BB R By 5 Memwe| @ sravux | @ srawx W xsww

EHANOEHBEREENEONENO (XXX KEB G IS . | — X




EUPRAEANOL YUY HS G Ml -2

80V =fk] 917 =Frd; 865S€T1670T | £L06712G2 | 525986964 | [9¥TE5¢ 018Tz9 [ 1496061 | {2
0G¢ — 00€ZET | 00ogzer — 84€ 848 — mB Y
Gy Gg¥ 060°L£891 0006705 080'882¢ 1 9V I'e ¥ 08811 9921¢ -
— - — — — — — — & i
A Y47 06%°LG8%EY 00%89921 0606811¢ P6TE0T 80862 98¢ . T
G2y 000616%¢ — 000618 082% — 0828 ¥ ¥ B
GZ¥ VA7 009% LEL 00090¢ 009890°L ZGELT 02 L 28991 M HH
- — — — - - — - 2 2 =
4747 GZ¥ 8697 VYT 8¥QTST 0682621 78¢'e Zve Z70% g ¥ v
44 GZ¥ 00656€66 009T6%8 00070698 09%722 08661 08%702 | 1@ &
0Zv~01¥% | S27~02ZF | 0T€'€LE9GE ~709LBST8I 066y 1298¢e 9G6ET¥8 SLYSY 188861 2 .4
825§ GZ¥ 0802679 080061 00029298 00861 09¢ 0v9P61 o ¥
1% YA 007221%¥1 00882V 1¥ 009€6920T 2eveVe 008001 2e91ve | & 0 m
0g¢ - 062120%6 082120%6 — GLLST gLLee — Yth « %
63¢ 187 20L298%7 L1860TT 5887 S¥1 88¢9 £68%7 geqe o &
iaA7% qzy 0180¢€9 09G6E¥ 0682161 0F¥1 066 0S8 H O e
— — — — — - — — X % B W
— — — — — — — — W 8
— YA 06¥%50¥ - 0S¥'S0¥ 756 — 756 2N
0G¢ — 000TH9TT 000THOTT — 29971 29971 — o B
02¢ — 079%290T1 079729071 — z02ce 202%¢¢e — g A
LOF-00F — 989202%¢¥ 989702¢Y — 266901 2659071 — % 4 &
99¢ — 062,08 062,05V — G1€%21 STECT — e e
— 688 080082 — 080082 021 — 021L A u
- - - — — — — — Iif £
88¢ qz¥ Y16219%¢T v18768T 001092 3¢67 ¢ 9Z2¢%¢ izl Z
Y A 81861876 82€TLY 08587176 8¢£0%2¢2 AR i 15
08¢ 00% 000996, 000996 0000002 00.0¢ 0012161 T [
08¢ 00% 00008LG8 00008692 00000888 000812 000T1L B Z
00% $Ge 01S2L2LY 000962 01S9102L¥ §6¥ee T 0¥ 9 sig ¥
00¥ — 00000828 000008L¢ — 005876 005676 M & m
(a1} v @ + W 5] & | b = @ + W B BEHF "
g g E q) & 1
m o w | * B ® @ w_ | vEEv AR e

EUBEIEINOL X IWTHE S Wl 7%



€8¢ =FErz| 06V =FErk| 2STEVO0E6T [2VL.26€521|0T70G6919 | 3¥S208 GV 8EVE L698GT 1
70¢ 00§ 8¥87L2'LYy |8%8%LELE |000006%6 LeLTY1 L€6221 008%1 mE Y
— 47 002988% — 002988 7716 — 771 BN
— - — — — — — — &y i1
S2¥ g2y 0690L80T 068°LTTS 008261LS 81662 27021 9eger -
— — - - - - — — w ' #
Sz STV 002928 006LG9 00€%891 V6T 8% 8T 96¢ K
- - — - - — - — 2z ®
A4 G 792GZET1T AR AEEN! 00806L21 | zssee 967 9600¢ g5 ¥ v
— — — — — — — — iy #)
02%~01% | G2v~02% | 0T1EGTISST 00029221 |01€%€g2e 07 0LE $61%6¢ V) 2 K #
- - - - - - - - 3 X
— — — — — — — — W ®
— ST¥ 00066921 — 00066921 | 088%6¢ — 088%6¢2 v 0 m
08¢ — 0081T¥¢ 0081%¢ — 8% ST 8% ST — ELEE TR
- - - - - - - - I S
— — — - — — — — EEYN T
— - — — — — — — X O I
— —_— —_ — — —_ _ —_— %. %\ Tel
- - - ~ - - - - !
03¢ — 000T79TT 000T79TT - 092%¢¢ 092¢e — E
02¢ — 02€02LL 02€021LL — 92172 92172 — K4 @
00¥ — 009€G18 009€S 18 — 8889 8889 — EEE R
89¢ — 0960G.62 (09606162 — $¥808 7808 — .M%& )
an
- — — — — - — — LI 4
- — - - - - - - . A
— — — - - — — — LA -
- - - — - - - — B <
08¢ 00¥ 0000¥%862 00007901 | 00000261 | 0009L 00082 00087% B 7
— — — - — — — — | B ¥
— — — — - — - — o v
— — 1 - = — — — — HE 3]
@ + W @ + R EEAIEEE
@ M e g s [ Z_%21% Fl ey aEViaEMETEE| & 9 W
e m E (&) W] H T wmW

ERERFEAN O X RXFH Hmmmm s -z

“g0v = ﬂ.iog Erds 8655816V 0T [ €L0671¢5¢ | 629986964 | 19V

“neoo ["A A0S T T AnGS AT ‘..u. S T

T29 .Tm@dom.i EE




Wﬂm@ﬁw@%ﬁ.#mﬁ%h‘an%*ki& §S O¥Ey

e
LOV =fr&| ZETT6ETP | 8609%L9 7EI6v9%6¢E L8911 €602 00666 s
- - - - - - - ML U
- - - - - - - - S -
— — - — - - - - B W
68¢ qz¥ 80G6¥7€9T 80092 0059097 268t ZL 081.%¢ Wg &k
- - - - - - - - | % F R
— — — - - — - — R
- - - - - - - — 2 Z &’
- - — - — — - - g X v
— et 44 00066272 — 0006627 00%%G — 007% z #
0G¢e 0Ge 06176712 0629769 006L¥%38%3 668°LL I8A4] 85769 'z ¥ 4
— 68¢ 78ETVET — P8ETVET 967%¢ — 967%¢ m
- — — — - - - — 1 §t
— G2V 0560L7%%C — 0560L%7 718% — 718 g o m
- - - - - - - L CER
— — — - - — — - H W &
- - — — — - — — R T
— — — — — — — — X OB
- - - - - - - SO S
z6¢ Sz¥ 0892¢8 0880¥. 00816 068 PL9T 912 ERRYE
- - - — - — - - B %
— — - — — — — — & bl
00¢ — 00278% 002787 — P19T VI9T — % &
552 - 09169¢ 091G9¢ — Ze¥'l Ze¥l — B dq
— 63¢€ 050%6L1 — 050%GLI 057 — 0S¥ N
— — — — — -~ — — I 4
8L2 — 08910712 089701% — 0962 096 — ey T
447 Gz 0L7€61E 026 L 06811 906, 081 928 BT
— — — — - — — — [ 35
- - - — - — —~ - |[m®
- - - - — - — S N
— — — — — — _ _ ] 7 L
— — - — - — — — HE E
(@ @ + @ @ + W ) HHEF | 6) CFF
i ¥ B 3 # hd # id 18 F F | @LuWedy| )BTRS @ B OB
6% ) (a) (v) ® g B §
KHENHEDVNO ¢ xR EFEICHA -1



M )1.22009 659 02ST 9L62¢81 g
00021 1 01 00¢€ m ' v
mO0VZ6 01 L2 01€% N
— — — — N .
Bm0080LT 92 70T 0L2% FE-
M 0887 1 8 06 ¥ B @
mO08'L I g 00€ W WO
— - - - B % B
— 9 GG G912 g ¥ v
BGL6996T 21 8/ $09%9 . a
megLB6S L¥ Z91 0v0eT 2 ¥ _ &
m000%SL L 7S 005% B ¥
— — - — LU
— 0¢ 16 0000¢€ EE
m08876 g ey 00€% M o WEH
HEETE L 6 0907 H W% &
— g 61 086 AR
— — - - X
— — — - 7 T
mogve? 01 g1 S80°T g Ty
00002 I LT 00§ -
mO08T6 0% 69 0L€% '
mOV28s 2 96 002 I
mOOGLYIT 61 L9 czee W
m0G0TH 9 L2 0£2% EE
— — — - L 4
mH98F¢ ST 0¢ 0667 ElE 2
R A A ATA L0¢ L9¢ 96672 L
m00099T 81 ¥ 081% wm K
m000002 02 eV 000G E 2
m0826¢ 8 ge 092% A
m0000€E2 ge 0L 00071 FIAE S
_ — —_ — HE |
XY s (%) (MEBT2LL-VLOWUYED . -
(<) BEEH Er g % B B EEEVHE | OENTWE) FHNE | g W oW

FUTHMAEUMHE LY I oL T GCMHE @

vvEe =Erk| LOV =Erdr 2€2T6€CY | 8609%L9 | vEIGH0GE | €48911 | €.602 | 006S6 | 12




£—-6 EXo4&ERAEHER EB)

S WoB A
© o7 OB B
# (100#) 250000/
74 (BE) 18810
HE (1% 1,000
gt 269310
Q@ % ¥ %
74475 50000 M
By 12000
Xk D 30000
5 #® 150000
7t 242000

Q@ BRERUHZE (REEHNR)
® 64286 A BATR
N v 5 4 b 23040 ( # 54)
7200 ( » »)
# ok R v F 12600 ¢, 4, )
&t Q07126
@ zZofhrs
x B B 3000 H
WEEER 100000
&t Q03000
& & 721936
1@ro0keENB & LBE
721,936-+1008+50kg=144M (1 k¢4 HE F)
1448X 18kg==25921
® 1E¥omIseE 1000H
2592H+1000MH=3592M
SIESODEER 35920

Ay —

Q@ ¥ NBMEH-RAEME (10%) +WAEK

TW/0EE
O # # =B
A8 (10080 60000
74 (3BF) 18810
HE (1%) 1,000
i) 79810
Q % B B
7445 50,000M
B Ao 12,000
Kk b 30000
% # 150000
M 4000
&t (246000
Q@ HHERUHDE

= 7 64286 H
N 74 b 23040
AT Y 7200
Wk R 7 12600
&t o712
@ %ofhEE
X OB B 3000 M

WEEBEA 100000
B (103000
& & 535936
18 5 0ks 1B & LB
535,936P?J+100&+50kg#107133<§§éé§
107X 18ks=1,926 9 )
® 1HE%DHTHEE 1000/
1026 M-+ 1000 F=2926 3

SOIESHDOAEER 2926

MM BER IR KERESEEADOSBRTFROBHER 2,

. __8__




